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Speedy Maths - ANSWERS


	BRONZE
	Your working out: 

	1)
	74 588 – 2 892 = 71 696
	
	

	2)
	2304 ÷ 9 = 256
	
	

	3)
	7³ + 15 = 358
	
	

	4)
	14.73 + 0.09 = 14.82
	
	

	5)
	80% of 1800 = 1440
	
	

	SILVER
	

	1)
	4.89 x 4 = 19.56
	
	

	2)
	0.08 x 1000 = 80
	
	

	3)
	3/8 ÷ 7 = 3/56
	
	

	4)
	100 ÷ (43 - 33) = 10
	
	

	5)
	13% of 900 = 117
	
	

	GOLD
	

	1)
	A rectangular garden has an area of 120m². The length is 20m. What is the width? 6m
	
	

	2)
	What is the perimeter of the garden above? 52m

	
	

	3)
	5c + 50 = 75 
What is the value of c?      c = 5

	
	

	4)
	Convert 9.55pm to a 24 hour format: 21:55

	
	

	5)
	What is 0.8 as a simplified fraction?    8/10 = 4/5
	
	




Bronze =	 	/5
Silver = 		/5
Gold = 		/5
Total = 		/15



